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10000 / 6600 V
2500 /3330 kVA
Z% =6.00 %

3P   258 A
3P   3240 A

3P(sy) 3498 A
3P(5cyc) 3504 A

3P   258 A
3P   3227 A

500 hp
X"d= 0.17 pu                     

S

P
2 5 0 0  k V A
1 0 0 0 0  V / 6 6 0 0  V
Z % = 6 . 0  %

S L G  1 7 4  A
 S L G  3 3 6 7  A

I s c  S L G  3 5 4 1  A

S L G  1 7 4  A
 S L G  3 3 5 3  A

5 0 0  h p
3 7 3  k W
X " d = 0 . 1 7  p u  

CASE A            CASE B 

AD
Callout
Grounding System, Solid Grounding or Resistance Grounding

AD
Callout
UnGrounding System
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Highlight
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Highlight


